Boot Camp 3
Triangles
Take Home and Check

Accelerated

1} Which three lengths CANNOT be the
lengths of the sides of a triangle?

A) 23m,17m, 14m
B) 11m, 11m, 12m
) 5m, 7m, 8m

D) 21m, 6m, 10m
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2} What is the measure of angles fand g?
Show how you get your answer.
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3} Find the values of x,y and z. The
diagram is not to scale.
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4) Use two letters to name the longest and
shortest sides.

P

50°

95" 35°
Q
Longest side =

Shortest side =

4)
/»Oﬂgcs*f side = E
Shorkest side = PA

5) Use two letters to name the longest and
shortest sides.

Q
3% 500N\T

Longest side =

Shortest side =

5) _
L_onacs:[* Side= RT




{ 6) Classify the triangle by its sides and angles.
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7) Classify the triangle by its sides and angles.
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8) Classify the triangle by its sides and angles.
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9) Determine if the given information will
make a unique triangle. Explain why or
why not.

a) Sidelengths 3 and 5 and an included angle
of 67 degrees.

b) Angles 73°,7° 100°

¢) Angles 80° and 25° and an included side of
12.
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10) Construct a triangle in which
N
AB=7.2AC= 7.2}2nd BC=9 cm

Is this a unique triangle?

What Kind of A 15 this?

11) Find the measures of the missing sides and
angles. Then classify each triangle by its sides
and angles.
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11) Construct a triangle whose sides are twice
as long as the triangle below.
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AB 4% x2= 96 cm
B¢ L5 x2=3 cm
A 48 «2=9.bLctm
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13) Calculate the perimeter and area of these

triangles.
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